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Example

1. In the figure, some points on lines l, t and n

are given. Find the 

slopes of those lines. Observe the type of

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ziieVAtQVF6j


angles made by these 

lines with the positive direction of X-axis and

try to find a relation

between the type of angle and sign of the

slope. 

Watch Video Solution

https://dl.doubtnut.com/l/_ziieVAtQVF6j


Practice Set 5 1

1. Find the distance between each of the

following pairs of the points: A(2,3), B(4,1)

Watch Video Solution

2. Find the distance between each of the

following pairs of points . 

P (-5,7) ,Q(-1,3)

Watch Video Solution

https://dl.doubtnut.com/l/_1UdImff62l3A
https://dl.doubtnut.com/l/_8GrUa88jdYaM


3. Find the distance between each of the

following pairs of the points.(iii)R(0,-3), S(0,5/2)

Watch Video Solution

4. Find the distance between each of the

following pairs of the points. (iv) L(5,-8), M(-7,-3)

Watch Video Solution

https://dl.doubtnut.com/l/_GWzG8aY1xiLw
https://dl.doubtnut.com/l/_ZZiCRy2EUBdG


5. Find the distance between each of the

following pairs of the points.(v) T(-3,6), R(9,-10)

Watch Video Solution

6. Find the distance between each of the

following pairs of the points.(vi) W(-7/2,4),

X(11,4)

Watch Video Solution

https://dl.doubtnut.com/l/_XEIUC1UyiDAt
https://dl.doubtnut.com/l/_TVs6k5T5GhZC


7. Determine whether the points are collinear.

(i)A(1,-3), B(2,-5) and C(-4,7)

Watch Video Solution

8. Determine whether the points are collinear.

(ii) L(-2,3),M(1,-3),N(5,4)

Watch Video Solution

https://dl.doubtnut.com/l/_cGhpeEbTC3KE
https://dl.doubtnut.com/l/_x8wHmSsjY87f


9. Determine whether the points are collinear.

(iii) R(0,3),D(2,1) and S(3,-1)

Watch Video Solution

10. Determine whether the points are collinear.

(iv) P(-2,3),Q(1,2),R(4,1)

Watch Video Solution

https://dl.doubtnut.com/l/_qzNoxPtltEmy
https://dl.doubtnut.com/l/_PDzslwjFmKWz


11. Find the point on X-axis which is equidisant

from A(-3,4) and B(1,-4)

Watch Video Solution

12. Verify that points P(-2,2),Q(2,2) and R(2,7)

are vertices of a right angled triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_r6ZyuL8lnB0n
https://dl.doubtnut.com/l/_8sn1d8k0ljJ6


13. Show that points P(2,-2), Q(7,3), R(11,-1) and

S(6,-6) are the vertices of a parallelogram.

Watch Video Solution

14. A(-4,-7),B(-1,2),C(8,5) and D(5,-4) are the

vertices of rhombus ABCD.

Watch Video Solution

https://dl.doubtnut.com/l/_hBRWRAe63jNs
https://dl.doubtnut.com/l/_4B0iqUMpQUUo


Practice Set 5 2

15. Find x,if distance between points L(x,7) and

M(1,15) is 10.

Watch Video Solution

16. Show that the points A(1,2), B(1,6) and C(1+

,4) are the vertices of an equilateral

triangle.

Watch Video Solution

2√3

https://dl.doubtnut.com/l/_F1scePDLzXh5
https://dl.doubtnut.com/l/_EHhabUaZmabP


1. Find the co-ordinates of point P if P divides

the line segment joining the points A(-1,7) and

B(4,-3) in the ratio 2:3.

Watch Video Solution

2. In each of the following examples find the

co-ordinates of point A which divides segment

PQ in the ratio a:b.(i) P(-3,7), Q(1,-4), a:b=2:1.

Watch Video Solution

https://dl.doubtnut.com/l/_ItJlAaINa4Km
https://dl.doubtnut.com/l/_N6Ab6ffzBFNJ


3. In each of the following examples find the

co-ordinates of point A which divides segment

PQ in the ratio a:b.(ii)P(-2,-5), Q(4,3), a:b=3:4.

Watch Video Solution

4. In each of the following examples find the

co-ordinates of point A which divides segment

PQ in the ratio a:b.(ii)P(-2,-5), Q(4,3), a:b=3:4.

Watch Video Solution

https://dl.doubtnut.com/l/_vhCDc2sGf1bR
https://dl.doubtnut.com/l/_nLumOPtGnjC7
https://dl.doubtnut.com/l/_fzPY8QAzfReg


5. Find the ratio in which point T(-1,6) divides

the line segment joining the points P(-3,10)

and Q(6,-8).

Watch Video Solution

6. Point P is the centre of the circle and AB is a

diameter.Find the co-ordinates of point B if co-

ordinates of point A and P are (2,-3) and (-2,0)

respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_fzPY8QAzfReg
https://dl.doubtnut.com/l/_LweM4DKMWSCl


7. Find the ratio in which point P(k,7) divides

the segment joining A(8,9) and B(1,2). Also find

k.

Watch Video Solution

8. Find the coordinates of the midpoint of the

segment joining the points (22,20) and (0,16).

Watch Video Solution

https://dl.doubtnut.com/l/_h6228uedDrk1
https://dl.doubtnut.com/l/_9u8I1bFnjyDX


9. In each of the following vertices of a triangle

are given. Find the coordinates of centroid of

each triangle (i) (-7,6), (2,-2), (8,5)

Watch Video Solution

10. Find the coordinates of centroid of a

triangle whose vertices are (3, -5), (4,3), (11-4),

Watch Video Solution

https://dl.doubtnut.com/l/_5Lk3GQ1reZdr
https://dl.doubtnut.com/l/_PFwnR6fQ162h


11. In each of the following vertices of a

triangle are given. Find the coordinates of

centroid of each triangle (iii) (4,7),(8,4),(7,11).

Watch Video Solution

12. In ,G(-4,-7) is the centroid of 

.If A(-14,-19) and B(3,5),then find co-

ordinates of C.

Watch Video Solution

△ ABC

△ ABC

https://dl.doubtnut.com/l/_si45QlCVKBib
https://dl.doubtnut.com/l/_OcX9YpXkfs4S
https://dl.doubtnut.com/l/_YLL9ukXpzTRY


13. A(h,-6),B(2,3) and C(-6,k) are the co-

ordinates of vertices of a triangle whose

centroid is G(1,5). Find h and k.

Watch Video Solution

14. Find the co-ordinates of points of

trisection of the line segment AB with A(2,7)

and B(-4,-8).

Watch Video Solution

https://dl.doubtnut.com/l/_YLL9ukXpzTRY
https://dl.doubtnut.com/l/_RtvRsNZxVDWn
https://dl.doubtnut.com/l/_QeElAQi4bpkg


15. If A(-14,-10),B(6,-2) is given,find the co-

ordinates of the points which divide segment

AB into four equal parts.

Watch Video Solution

16. If A (20,10) ,B (0,20) are given , find the co-

ordinates of the points which divide segment

AB into five congruent parts.

Watch Video Solution

https://dl.doubtnut.com/l/_QeElAQi4bpkg
https://dl.doubtnut.com/l/_w8YUqJo5Zr8T


Practice Set 5 3

1. Angles made by the line with the positive

direction of X-axis are given. Find the slope of

these lines (i)

Watch Video Solution

45∘

2. Angles made by the line with the positive

direction of X-axis are given. Find the slope of

these lines (ii)

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_jZR98VQ8QMgz
https://dl.doubtnut.com/l/_Fa9DHgdLXXTu


3. Angles made by the line with the positive

direction of X-axis are given. Find the slope of

these lines(iii) 

Watch Video Solution

90∘

4. Find the slope of line passing through the

given points. (i) A(2,3) and B(4,7)

Watch Video Solution

https://dl.doubtnut.com/l/_Fa9DHgdLXXTu
https://dl.doubtnut.com/l/_oHU8G80eQFXV
https://dl.doubtnut.com/l/_0ZHUwzftlkR5
https://dl.doubtnut.com/l/_z4tSuGxcoBPM


5. Find the slope of line passing through the

given points. (ii) P(-3,1) and Q(5,-2)

Watch Video Solution

6. Find the slope of line passing through the

given points.(iii) C(5,-2) and D(7,3)

Watch Video Solution

https://dl.doubtnut.com/l/_z4tSuGxcoBPM
https://dl.doubtnut.com/l/_ZfLm2BiyjjeK


7. Find the slope of line passing through the

given points.(iv) L(-2,-3) and M(-6,-8).

Watch Video Solution

8. Find the slope of line passing through the

given points.(v) E(-4,-2) and F(6,3).

Watch Video Solution

https://dl.doubtnut.com/l/_fLY53gIgvb5I
https://dl.doubtnut.com/l/_fpoz738XnUdA


9. Find the slope of line passing through the

given points.(vi) T(0,-3) and S(0,4).

Watch Video Solution

10. Determine whether following points are

collinear.(i) A(-1,-1),B(0,1),C(1,3)

Watch Video Solution

https://dl.doubtnut.com/l/_S10spXHCTW3C
https://dl.doubtnut.com/l/_pBRPR0ScD7rv


11. Determine whether following points are

collinear.(ii) D(-2,-3),E(1,0),F(2,1)

Watch Video Solution

12. Determine whether following points are

collinear.(iii) L(2,5),M(3,3),N(5,1)

Watch Video Solution

https://dl.doubtnut.com/l/_j5INzcvTM7qB
https://dl.doubtnut.com/l/_fx6Xhrn3Y0va


13. Determine whether following points are

collinear.(iv) P(2,-5),Q(1,-3),R(-2,3)

Watch Video Solution

14. Determine whether following points are

collinear.(v) R(1,-4),S(-2,2),T(-3,4).

Watch Video Solution

https://dl.doubtnut.com/l/_Ve4V5wPj7o0G
https://dl.doubtnut.com/l/_ehdyKvFYnNBU


15. Determine whether following points are

collinear.(vi) A(-4,4),K(-2,5/2),N(4,-2).

Watch Video Solution

16. If A(1,-1), B(0,4), C(-5,3) are vertices of a

triangle, then find the slope of each side.

Watch Video Solution

https://dl.doubtnut.com/l/_hGBvzfYgz0a3
https://dl.doubtnut.com/l/_oG01fEFryvcg


17. Show that A(-4,-7), B(-1,2), C(8,5) and D(5,-4)

are the vertices of a parallelogram.

Watch Video Solution

18. Find k, if R(1,-1),S(-2,k) and slope of line RS is

-2.

Watch Video Solution

https://dl.doubtnut.com/l/_pnp7fXSrTwgS
https://dl.doubtnut.com/l/_nlbbPS0XJq3b


Problem Set 5

19. Find k, if B(k,-5),C(1,2) and slope of the line is

7.

Watch Video Solution

20. Find k, if  and P(2,4), Q(3,6),

R(3,1) and S(5,k).

Watch Video Solution

PQ ∣ ∣ RS

https://dl.doubtnut.com/l/_4XOrkraJiAGn
https://dl.doubtnut.com/l/_keDE3DipzxnB
https://dl.doubtnut.com/l/_sVCXWAt6Fe9B


1. Seg AB is parallel to Y-axis and co-ordinates

of point A are (1,3), then co-ordinates of point

B can be……….a) (3,1)
b) (5,3)
c) (3,0)
d) (1,-3)

A. (3,1)

B. (5,3)

C. (3,0)

D. (1,-3)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_sVCXWAt6Fe9B


2. Out of the following, point………..lies to the

right of the origin on X-axis. a) (-2,0)
b) (0,2)
c)

(2,3)
d) (2,0)

A. (-2,0)

B. (0,2)

C. ( 2,3)

D. (2,0)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_02RCVUieGAPh


3. Distance of point (-3,4) from the origin

is………….a) 7
b) 1
c) 5
d) -5

A. 7

B. 1

C. 5

D. -5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WdgVa1AnaxYS
https://dl.doubtnut.com/l/_hGB7YVRZiVvh


4. A line makes an angle of  with the

positive direction of X-axis.so the slope of the

line is…..a) 
b) 
c) 
d) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘

1

2

√3

2

1

√3
√3

1
2

√3
2

1

√3

√3

https://dl.doubtnut.com/l/_hGB7YVRZiVvh
https://dl.doubtnut.com/l/_S0RNM5IrFSDj


5. Determine whether the given points are

collinear.(i) A(0,2),B(1,-0.5),C(2,-3)

Watch Video Solution

6. Determine whether the given points are

collinear.(ii) P(1,2),Q(2,8/5),R(3,6/5).

Watch Video Solution

https://dl.doubtnut.com/l/_S0RNM5IrFSDj
https://dl.doubtnut.com/l/_cmsURk4S3iJu


7. Determine whether the given points are

collinear.(iii) L(1,2),M(5,3),N(8,6).

Watch Video Solution

8. Find the coordinates of the midpoint of the

line segment joining P(0,6) and Q(12,20).

Watch Video Solution

https://dl.doubtnut.com/l/_HLtGk9GjLXVt
https://dl.doubtnut.com/l/_vHqe4zA02Bui


9. Find the ratio in which the line segment

joining the points A(3,8) and B(-9,3) is divided

by the Y-axis.

Watch Video Solution

10. Find a point on X-axis which is equidisant

from P(2,-5) and Q(-2,9).

Watch Video Solution

https://dl.doubtnut.com/l/_IksndnqumyxA
https://dl.doubtnut.com/l/_BXaqWw0M4AA8


11. Find the distance between the following

pairs of points (i)A(a,0),B(0,a).

Watch Video Solution

12. Find the distance between the following

pairs of points (iii)R(-3a,a),S(a,-2a)

Watch Video Solution

https://dl.doubtnut.com/l/_CSEPyHjshO1f
https://dl.doubtnut.com/l/_SE5wcfTJjn8h


13. Find the coordinates of circumcentre of a

triangle whose vertices are (-3,1),(0,-2) and (1,3).

Watch Video Solution

14. In the following example, can the segment

joining the given points form a triangle? If

https://dl.doubtnut.com/l/_UcZrVgMSLudl
https://dl.doubtnut.com/l/_ttFzeL9b8j0W


triangle is formed, state the type of the

triangle considering sides of the triangle.

L(6,4),M(-5,-3),N(-6,8).

Watch Video Solution

15. In the following examples,can the segment

joining the given points form a triangle?If

triangle is formed,state the type of the

triangle considering sides of the triangle.

(ii)P(-2,-6),Q(-4,-2),R(-5,0).

Watch Video Solution

https://dl.doubtnut.com/l/_ttFzeL9b8j0W
https://dl.doubtnut.com/l/_a7hFo6PCQd2r


16. In the following examples , can the

segment joining the given points from a

triangle ? If triangle is formed , state the type

of the triangle considering sides of the

triangle. 

(iii) A

Watch Video Solution

(√2, √2), B( − √2, − √2), C( − √6, √6)

https://dl.doubtnut.com/l/_a7hFo6PCQd2r
https://dl.doubtnut.com/l/_PVl1keox6wLg


17. Find k, if the line passing through points

P(-12,-3) and Q(4,k) has slope .

Watch Video Solution

1

2

18. Show that the line joining the points A(4,8)

and B(5,5) is parallel to the line joining the

points C(2,4) and D(1,7).

Watch Video Solution

https://dl.doubtnut.com/l/_H1eabRo9c4bV
https://dl.doubtnut.com/l/_hi1fWtLRpkFh


19. Show that the points P(1,-2), Q(5,2), R(3,-1),

S(-1,-5) are the vertices of a parallelogram.

Watch Video Solution

20. Show that the points P(2,1), Q(-1,3) , R (-5,-3)

and 

S (-2,-5) are the vertices of a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_VRviqq2qJakN
https://dl.doubtnut.com/l/_CvVZy8nyNbix


21. Find the lengths of the medians of a

triangle whose vertices are

Watch Video Solution

A( − 1, 1), B(5, − 3) and C(3, 5).

22. Show that A(4,-1), B(6,0), C(7,-2) and D(5,-3)

are vertices of a square.

Watch Video Solution

https://dl.doubtnut.com/l/_TMC0CzVHhHTo
https://dl.doubtnut.com/l/_kygT15AXifJD


23. Find the co-ordinates of circumcentre and

radius of a circumcircle of ,if

A(7,1),B(3,5) and C(2,0) are given.

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_6gQl5kKcmN6b


24. Given A(4,-3), B(8,5). Find the co-ordinates

of the point that divides segment AB in the

ratio 3:1.

Watch Video Solution

25. Find the type of the quadrilateral, if point

 and 

 are joined serially.

Watch Video Solution

A( − 4, − 2), B( − 3, − 7), C(3, − 2)

D(2, 3)

https://dl.doubtnut.com/l/_3orTUaPgR4C6
https://dl.doubtnut.com/l/_o5gpqLdcOl0d
https://dl.doubtnut.com/l/_r9jF2Vvd0Eqk


26. The line segment AB is divided into five

congruent parts at P ,Q ,R and S such that A-P-

Q-R-S-B . If point Q (12,14) and S(4,18) are given ,

find the co-ordinates of A,P,R,B.

Watch Video Solution

27. Find the co-ordinates of the center of the

circle passing through the point. P(6,-6),Q(3,-7)

https://dl.doubtnut.com/l/_r9jF2Vvd0Eqk
https://dl.doubtnut.com/l/_obOeW3cbS93L


and R(3,3).

Watch Video Solution

28. Find the possible pairs of co-ordinates of

the fourth vertex D of the parallelogram if

https://dl.doubtnut.com/l/_obOeW3cbS93L
https://dl.doubtnut.com/l/_gIjfajo4VE6H


Activities For Practice

three of its verices are A (5,6) , B (1,-2) and C

(3,-2) .

Watch Video Solution

29. Find the slope of the diagonals of a

quadrilateral with vertices A(1,7), B(6,3), C(0,-3)

and D(-3,3).

Watch Video Solution

https://dl.doubtnut.com/l/_gIjfajo4VE6H
https://dl.doubtnut.com/l/_YaAI51WoDji8
https://dl.doubtnut.com/l/_bW0lRMEikOyg


1. Find the point on X-axis which is equidisant

from A(-3,4) and B(1,-4)

Watch Video Solution

2. Find k, if the line passing through points

P(-12,-3) and Q(4,k) has slope .

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_bW0lRMEikOyg
https://dl.doubtnut.com/l/_qoNKvwoolVpw


3. Show that A(-4,-7), B(-1,2), C(8,5) and D(5,-4)

are the vertices of a parallelogram.

Watch Video Solution

4. Complete the table below the graph with

the help of the following graph. 

https://dl.doubtnut.com/l/_Zn4eDVD8yCHo
https://dl.doubtnut.com/l/_ssOXThr3hLTl


Multiple Choice Questions

Watch Video Solution

https://dl.doubtnut.com/l/_ssOXThr3hLTl


1. The distance of the point (4,3) from the X -

axis is

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: B

Watch Video Solution

2

3

4

5

https://dl.doubtnut.com/l/_EWy6OfkiASez
https://dl.doubtnut.com/l/_9b35k4LioZh3


2. The distance of the points (8,6) from the

origin is

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: C

Watch Video Solution

8

4

10

6

https://dl.doubtnut.com/l/_9b35k4LioZh3


3. The distance between points A (6,0) and

B(0,8) is

A. (a)  units

B. (b)  units

C. (c)  units

D. (d)  units

Answer: C

Watch Video Solution

14

2

10

7

https://dl.doubtnut.com/l/_eLDRQK9ZNvZI
https://dl.doubtnut.com/l/_9qw7xSIwLgxv


4. If the distance between A (h,12) and origin is

13 units,

then the value of h is are

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: A::C

Watch Video Solution

±5

4

±3

2

https://dl.doubtnut.com/l/_9qw7xSIwLgxv
https://dl.doubtnut.com/l/_bLRao0Gf6DuB


5. The point on x-axis which is equidistant

from points

A (-1, 0) and B(5, 0) is

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: B

Watch Video Solution

(0, 2)

(2, 0)

(3, 0)

(0, 3)

https://dl.doubtnut.com/l/_bLRao0Gf6DuB


6. If the points (-4,0) and (4,8) are equidistant

from point (0,k), 

find the value of k .

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: C

Watch Video Solution

±4

−4

4

0

https://dl.doubtnut.com/l/_Fg5Vgi0JEocI


7. If the point (x,y) is equidistant from (7,1) and

(3,5) , then

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: B

Watch Video Solution

x + y = 2

x − y = 2

y = x + 2

x + y = − 2

https://dl.doubtnut.com/l/_v5iMLKh4FoIi
https://dl.doubtnut.com/l/_eZk9PWbzHH1X


8. The perimeter of a triangle with vertices

(0,3) (0,0) and (4,0) is

A. (a) 5

B. (b) 12

C. (c) 9

D. (d) 16

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_eZk9PWbzHH1X


9. ABCD is a rectangle whose three vertices are

A (0,4) B (0,0) and C (3,0) . The length of its

diagonal is

A. 5

B. 3

C. 6

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ueqGquJYHGl5


10. The points (-4,0),(4,0) and (0,3) are the

vertices of a

A. (a) a right angled triangle

B. (b) an isosceles triangle

C. (c) an equilateral triangle

D. (d) an scalene triangles

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_LnIdDnuyibuK
https://dl.doubtnut.com/l/_xsSk0AfrJRsF


11. Which of the points A (1,2), B (-2,2) , C (-3,-4)

and D (4,-1) is 

nearest to the origin ?

A. (a) A

B. (b) B

C. (c) C

D. (d) D

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xsSk0AfrJRsF
https://dl.doubtnut.com/l/_vlOplkzyxH2I


12. The co-ordinates of point which divides the

segment joining

A (0,4) and B (6,0) in the ratio 1 :2 are

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: C

Watch Video Solution

( , )
3

8

1

2

( , )
1

2

3

8

(2, )
8

3

( , 2)
8

3

https://dl.doubtnut.com/l/_vlOplkzyxH2I


13. If point P (1,1) divides line segment joining

the points A and 

B (-1,-1) in the ratio  , then co-ordinates of A

are

A. (a) (3,3)

B. (b) (6,6)

C. (c) (2,2)

D. (d) (1,1)

Answer: B

Watch Video Solution

5: 2

https://dl.doubtnut.com/l/_tWI846t3qIue


14. The point which divides the line segment

joining the points (5,4) 

and (-13,1) in the ratio  lies in the

A. (a) I quadrant

B. (b) II quadrant

C. (c) III quadrant

D. (d) IV quadrant

Answer: B

2: 1

https://dl.doubtnut.com/l/_tWI846t3qIue
https://dl.doubtnut.com/l/_Sf8Y8jr3ySu5


Watch Video Solution

15. The ratio in which X -axis divides the

segment joining (-4,3) and 

(2,-6) is

A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: A

1: 2

2: 1

1: 3

3: 1

https://dl.doubtnut.com/l/_Sf8Y8jr3ySu5
https://dl.doubtnut.com/l/_VRmR62CyW03g


Watch Video Solution

16. The line segment joining the points (-1,-2)

and (2,8) is divided

by Y -axis in the ratio

A. 

B. 

C. 

D. 

Answer: B

2: 1

1: 2

2: 3

3: 2

https://dl.doubtnut.com/l/_VRmR62CyW03g
https://dl.doubtnut.com/l/_zqVTVqkblDip


Watch Video Solution

17. The co-ordinates of the midpoint of

segment joining 

A (3,4) and B (5,-2) are ……..

A. (1,4)

B. (4,3)

C. (1,3)

D. (4,1)

Answer: D

https://dl.doubtnut.com/l/_zqVTVqkblDip
https://dl.doubtnut.com/l/_OP01yZv7NJYY


Watch Video Solution

18. If the line joining A (3,3) and a point B has

midpoint at origin,

then co-ordinates of B are

A. (3,-3)

B. (-3,-3)

C. (-3,3)

D. (0,0)

Answer: B

https://dl.doubtnut.com/l/_OP01yZv7NJYY
https://dl.doubtnut.com/l/_RHSslOfEKZI2


Watch Video Solution

19. If (5,6) is the midpoint of the line segment

joining (6,5) and (4,k), 

then the value of k is

A. 5

B. 6

C. 7

D. 8

Answer: C

https://dl.doubtnut.com/l/_RHSslOfEKZI2
https://dl.doubtnut.com/l/_LWdfjr1dwTm1


Watch Video Solution

20. In the figure , point P is the centre of the

circle and AB is

https://dl.doubtnut.com/l/_LWdfjr1dwTm1
https://dl.doubtnut.com/l/_mko3Y4QsI76X


the diameter. The co-ordinates of A are 

A. (6,7)

B. (-6,7)

https://dl.doubtnut.com/l/_mko3Y4QsI76X


C. (6,3)

D. (-6,3)

Answer: B

Watch Video Solution

21. If P (5,-3) and Q(3,y) are the points of

trisection of the line segment joining the

points A (7,-2) and B (1,-5) . then y equals?

A. 2

https://dl.doubtnut.com/l/_mko3Y4QsI76X
https://dl.doubtnut.com/l/_3PBXSQrJPRxd


B. 4

C. -4

D. -6

Answer: C

Watch Video Solution

22. The point which lies on the perpendicular

bisector of the line

segment joining the points A(-2,-5) and B (2,5)

is

https://dl.doubtnut.com/l/_3PBXSQrJPRxd
https://dl.doubtnut.com/l/_aKRM6Sz8ltbQ


A. (0,0)

B. (0,2)

C. (2,0)

D. (-2,0)

Answer: A

Watch Video Solution

23. If 
 and 
 are the

vertices of , 


then the
length of median through 
is

A(4,  9),   B(2,  3) C(6,  5)

ABC

C

https://dl.doubtnut.com/l/_aKRM6Sz8ltbQ
https://dl.doubtnut.com/l/_fq8PNZxnBIj4


A. 

B. 

C. 25

D. 10

Answer: B

Watch Video Solution

√5

√10

24. In  PQR , G (6,-2) is the centroid . If P

(3,-5) and Q(11,-4), 

then co-ordinates of R are

△

https://dl.doubtnut.com/l/_fq8PNZxnBIj4
https://dl.doubtnut.com/l/_GECBbHwFanbO


A. (3,4)

B. (4,3)

C. (-3,4)

D. (4,-3)

Answer: B

Watch Video Solution

25. In A (h,-5) , B (-1,-6) and C (4,k) are the co-

ordinates of vertices 

https://dl.doubtnut.com/l/_GECBbHwFanbO
https://dl.doubtnut.com/l/_ecS9nYqY19Of


of  ABC whose centroid is G (2,-4) , then

the value of k is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

△

https://dl.doubtnut.com/l/_ecS9nYqY19Of


26. The slope of the line parallel to Y-axis

A. (a) is 0

B. (b) is 1

C. (c) is -1

D. (d) cannot be determined

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_virlLda9vwj4


27. Write the slope of the line which makes an

angle of 


with positive direction of X-axis .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

60∘

1

2

√3

1

√3

1

√2

https://dl.doubtnut.com/l/_CpyMss6ZVNno


28. If the slope of a line is , the angle made

by the line with the 

positive direction of X-axis is _ _ _ _ _ _

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_33agTLINkpxC


29. In the figure , line l is parallel to X -axis .

Which of the following statement is true ? 

A. (a) The slope is zero .

B. (b) The slope cannot be determined .

C. (c) The slope is positive.

D. (d) The slope is negative.

https://dl.doubtnut.com/l/_PcOPoPP06GSX


Answer: A

Watch Video Solution

30. The slope of the line passing through the

points (5,-2) and (-3,-6) is ……

A. 2

B. -2

C. 

D. 

1

2

−
1

2

https://dl.doubtnut.com/l/_PcOPoPP06GSX
https://dl.doubtnut.com/l/_uBlaFRaltOtO


Answer: C

Watch Video Solution

31. If the slope of the line joining the points

(k,-3) and (-6,-8) is , 


then the value of k is

A. (a) 

B. (b) 

C. (c) 

D. (d) 

5

4

2

−2

3

−3

https://dl.doubtnut.com/l/_uBlaFRaltOtO
https://dl.doubtnut.com/l/_pLCqKhRnVNqY


Answer: B

Watch Video Solution

32. The line joining the points (1,-5) and (4,-3) is

parallel to the line 

joining the points .

A. (a)  and 

B. (b)  and 

C. (c)  and 

D. (d)  and 

(2, 0) (0, − 3)

( − 2, 0) (0, − 3)

( − 3, 0) (0, − 2)

( − 3, 0) (0, 2)

https://dl.doubtnut.com/l/_pLCqKhRnVNqY
https://dl.doubtnut.com/l/_JecMoyRgSA9B


Answer: D

Watch Video Solution

33. If the
points 
 and 

are
collinear, then 

(a) 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

(k,  2k),  (3k,  3k) (3,  1)

k

1

3
−

1

3

2

3
−

2

3

−
1

2

1

2

−1

7

1

7

https://dl.doubtnut.com/l/_JecMoyRgSA9B
https://dl.doubtnut.com/l/_PLLah01CgBdg


Additional Problems For Practice

Answer: B

Watch Video Solution

1. Using distance formula, show that the

points  and 


 are collinear.

Watch Video Solution

(1, 5), (2, 4)

(3, 3)

https://dl.doubtnut.com/l/_PLLah01CgBdg
https://dl.doubtnut.com/l/_KYjcbW7UETcz
https://dl.doubtnut.com/l/_bEpzfVtYCmNS


2. Show that point   and 




are collinear

Watch Video Solution

P ( − 3, 2) Q(1, − 2)

R(9, − 10)

3. Find the co-ordinates of the center of the

circle passing through the point. P(6,-6),Q(3,-7)

https://dl.doubtnut.com/l/_bEpzfVtYCmNS
https://dl.doubtnut.com/l/_yHag0xzFxfm6


and R(3,3).

Watch Video Solution

4. Find the value of  if the distance between

the points

 and  is .

y

A(2, − 2) B( − 1, y) 5

https://dl.doubtnut.com/l/_yHag0xzFxfm6
https://dl.doubtnut.com/l/_Fh7vekWdSEDu


Watch Video Solution

5. Show that point (5,3) is equidistant from the

points (1,1) and (3,-1)

Watch Video Solution

6. Find the co-ordinates of a point on Y-axis

which is equidistant from M(-5,-2) and N (3,4)

Watch Video Solution

https://dl.doubtnut.com/l/_Fh7vekWdSEDu
https://dl.doubtnut.com/l/_0tj9iM3H98UH
https://dl.doubtnut.com/l/_cbIGPh8GEOuK
https://dl.doubtnut.com/l/_Ya0vFiCTyZ37


7. If point  is equidistant from points 

 and  show that 

Watch Video Solution

(x, y)

(7, 1) (3, 5) y = x − 2

8. Find the realation between x and y , such

that the point  is equidistant from

points (-1,8) and (3,4)

Watch Video Solution

(x, y)

https://dl.doubtnut.com/l/_Ya0vFiCTyZ37
https://dl.doubtnut.com/l/_IAscZA2c5vU1


9. Show that the points A(1,2),B(4,3),C(1,0) and

D(-2,-1) are the vertices 

of a parallelogram.

Watch Video Solution

10. If 

are the vertices of a quadrilateral, show that it

is a parallelogram.

Watch Video Solution

P (– 2, 4), Q(4, 8), R(10, 5) and S(4, 1)

https://dl.doubtnut.com/l/_eSqbjO4PmFFH
https://dl.doubtnut.com/l/_nBKejRiCFDPu
https://dl.doubtnut.com/l/_Zp5eH0e9QCHS


11. Show that points (1,7),(4,2),(-1,-1) and (-4,4)

are vertices of a suare.

Watch Video Solution

12. Show that A(4,-1), B(6,0), C(7,-2) and D(5,-3)

are vertices of a square.

Watch Video Solution

https://dl.doubtnut.com/l/_Zp5eH0e9QCHS
https://dl.doubtnut.com/l/_FXUDbGYRHCPS


13. Show that the points P(0,2) Q(3,-1) R(-2,-6)

and S(-5,-3) are the 

vertices of a rectangle.

Watch Video Solution

14.  are the

vertices of  . Find the co-ordinates of

the circumcenter of 

Watch Video Solution

A( − 3, − 4), B( − 5, 0), C(3, 0)

ΔABC

ΔABC.

https://dl.doubtnut.com/l/_Tf2FokzDTPCK
https://dl.doubtnut.com/l/_pG5yN2RJC2t1
https://dl.doubtnut.com/l/_lPItEbmP4KWo


15. If  and are

the vertices of a triangle, then find the co-

ordinates of circumcenter of that triangle .

Watch Video Solution

A(2, 7), B( − 6, 1) C( − 5, 8)

16. In  PQR , if P (5,-1) ,Q(-3,3) ,R (-2,6) are the

verties, then find the 

co-ordinates of the circumcentre and the

radius of the circumcircle.

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_lPItEbmP4KWo
https://dl.doubtnut.com/l/_j7yDj4UBEXsC


17. If A (3,5) , B (7,9) and Q divides seg AB in the

ratio , 


then find the co-ordinates of points Q .

Watch Video Solution

2: 3

18. If C(-2,-6), D (2,10) and Q divides seg CD in

the ratio .


Find the co-ordinates of points Q.

Watch Video Solution

4: 3

https://dl.doubtnut.com/l/_hu7luFW1EcJd
https://dl.doubtnut.com/l/_k5QtMBrILI0R
https://dl.doubtnut.com/l/_ptn5VlPROA4a


19. If point T divides the segment AB with A

(-7,4) and B (-6,-5) in the

ratio , find the co-ordinates of T

Watch Video Solution

7: 2

20. If point P(-4,6) divides the line segment AB

with A(-6,10) in the 

ratio  , then coordinates of the point B are

_ _ _ _ _ _ _ _

Watch Video Solution

2: 1

https://dl.doubtnut.com/l/_ptn5VlPROA4a
https://dl.doubtnut.com/l/_ejFGSQE8hMfP


21. The line segment LM is divided by point

 in the ratio 2:1 


if , then find the co-ordinates of 

Watch Video Solution

B( − 7, 2)

l(5, 4) M

22. A (12,5) ,B (4,-3) and A-P-B . Find the ratio in

which point P (9,2) 

divides segment AB.

Watch Video Solution

https://dl.doubtnut.com/l/_ld1NSvFxNXsL
https://dl.doubtnut.com/l/_UhchUZxyVm7g
https://dl.doubtnut.com/l/_rWXOUbNpsIll


23. Find the coordinates of the points of

trisection of the line segment joining the

points (2,-2) and (-7,-4)

Watch Video Solution

24. If P is the midpoint of line segment AB with

 and  then coordinates of

point  are.

Watch Video Solution

A( − 4, 2) B(6, 2)

P

https://dl.doubtnut.com/l/_rWXOUbNpsIll
https://dl.doubtnut.com/l/_NtQVyiaZRoiy
https://dl.doubtnut.com/l/_VQMNF4oBj9ss


25. If A(-14,-10),B(6,-2) is given,find the co-

ordinates of the points which divide segment

AB into four equal parts.

Watch Video Solution

26. The centroid of  PQR is G (2,-4), and

P(3,-5) and Q(-1,-6) are its vertices. Then find

the co-ordinates of R.

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_VQMNF4oBj9ss
https://dl.doubtnut.com/l/_3j4aAjMyIdNE


27. If slope of the line joining points P(k,0) and

Q(-3,-2) is  , then find k.

Watch Video Solution

2

7

28. Show that points P (-2,3) ,Q(1,2) ,R(4,1) are

collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_UNcrDSvzYvzG
https://dl.doubtnut.com/l/_GT3pP7gobopM


29. Show that points P (3,1) ,Q(-1,9) ,and R(4,-1)

are collinear.

Watch Video Solution

30. Find the value of k, if the points A(-1,1)

B(5,7) and C(8,k) are collinear

Watch Video Solution

https://dl.doubtnut.com/l/_h4TDBbDcT6zT
https://dl.doubtnut.com/l/_VH17aS6iwJZC


31. Find the value of k, so that line joining the

points A (3,k) and B(2,7) is parallel to line

joining the points C(-1,4) and D(0,6).

Watch Video Solution

32. Show that  ABCD is a parallelogram if A

(4,8) ,B(5,5), C(2,4) ,D(1,7) .

Watch Video Solution

□

https://dl.doubtnut.com/l/_vrggPjZFnQVU
https://dl.doubtnut.com/l/_PaQXXDeY7Coo


Chapter Assessment

33. If A(6,1) ,B(8,2) ,C(9,4) and D (7,3) are the

vertices of  ABCD , 


show that  ABCD is a parallelogram.

Watch Video Solution

□

□

1. Choose the correct alternative. 

(i) The distance of Q (3,-1) from the origin is

A. 2 units

https://dl.doubtnut.com/l/_DKRAClJ61tfp
https://dl.doubtnut.com/l/_GEmzzcZImAxB


B. 4 units

C.  units

D. units

Answer: D

Watch Video Solution

√5

√10

2. Choose the correct alternative. 

(ii) The midpoint of the segment joining the

points A (-5,6) and

B (-6,5) is ……

https://dl.doubtnut.com/l/_GEmzzcZImAxB
https://dl.doubtnut.com/l/_ouN0BUHpxdB1


A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: D

Watch Video Solution

( , )
1

2

11

2

( , )
−1

2

11

2

( , )
11

2

−11

2

( , )
−11

2

11

2

3. Slope of X-axis is…………a)0 b)1 c) -1 d) Not

defined

https://dl.doubtnut.com/l/_ouN0BUHpxdB1
https://dl.doubtnut.com/l/_M1tadWAjYb5k


A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

1

2

√3

2

4. Solve the following quations . 

(i) Find the slope of the lines making  and 45∘

https://dl.doubtnut.com/l/_M1tadWAjYb5k
https://dl.doubtnut.com/l/_hTPr6P9WQDwr


 with the


direction of X-axis .

Watch Video Solution

90∘

5. Find the co-ordinates of a point on Y-axis

which is equidistant 

from S (-3,-1) and T (2,-2) .

Watch Video Solution

https://dl.doubtnut.com/l/_hTPr6P9WQDwr
https://dl.doubtnut.com/l/_HTeDupmQRsxL


6. Find k, if the line passing through points

P(-12,-3) and Q(4,k) has slope .

Watch Video Solution

1

2

7. Find the slope of line l which is parallel to X -

axis . 

Also , find the slope of line n which is parallel

to Y-axis .

Watch Video Solution

https://dl.doubtnut.com/l/_zCpHJ3qPGkJz
https://dl.doubtnut.com/l/_GAa2BSD9hTPd
https://dl.doubtnut.com/l/_4E2B1bQr88Um


8. Solve the following questions. 

(i) Check if the points (3,9) , (0,6) and (-4,2) are

collinear or not .

Watch Video Solution

9. Solve the following questions. 

(ii) Find the ratio in which point Q (-1,4) divides

the line segment 

joining R (0,6) and S(-4,-2) .

Watch Video Solution

https://dl.doubtnut.com/l/_4E2B1bQr88Um
https://dl.doubtnut.com/l/_5YK6lG2jdEN4


10. Solve the following questions. 

(iii) Find the co-ordinates of the centroid of 

ABC if A(-3,2) ,B (-6,-1) and C (0,5) are its

vertices.

Watch Video Solution

Δ

11. A(-4,-7),B(-1,2),C(8,5) and D(5,-4) are the

vertices of rhombus ABCD.

Watch Video Solution

https://dl.doubtnut.com/l/_GYoTNvwbtTUV
https://dl.doubtnut.com/l/_gx12gECYtgg3
https://dl.doubtnut.com/l/_TLMZEZGYBQt4


12. Find the ratio in which point P(k,7) divides

the segment joining A(8,9) and B(1,2). Also find

k.

Watch Video Solution

13. Prove that the points (3, 0), (6, 4) and (-1, 3)

are the vertices of a 

right angled isosceles
triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_TLMZEZGYBQt4
https://dl.doubtnut.com/l/_zaBb3HhMePqy
https://dl.doubtnut.com/l/_3ePIkS6M6qxH


14. Points A(-1, y) and B(5, 7) lie on a circle with

centre O(2, -3y).

Find the values of y. Hence, find the radius of

the circle.

Watch Video Solution

15. Solve the following questions. 

(i) Point R divides seg PQ externally in the ratio

 and P-Q-R.


find the ratio in which point Q divides seg PR.

Watch Video Solution

3: 1

https://dl.doubtnut.com/l/_3ePIkS6M6qxH
https://dl.doubtnut.com/l/_Vpul3cVzhtLP


https://dl.doubtnut.com/l/_Vpul3cVzhtLP

